stop:=Input("ARALIK",1,30,5);per:=Input("HO period",1,300,22);per2:=Input("HO period2",1,300,100);
AET:=Mov(W,per,e); a2:=AET-ATR(stop); a3:=AET+ATR(stop);
AET2:=Mov(W,per2,e); a4:=AET2-ATR(stop); a5:=AET2+ATR(stop);
b1:=If(AET<PREV,a2,if(a2>PREV,a2,PREV)); b2:=If(AET>PREV,a3,if(a3<PREV,a3,PREV));
b3:=If(AET2<PREV,a4,if(a4>PREV,a4,PREV)); b4:=If(AET2>PREV,a5,if(a5<PREV,a5,PREV));
k1:=Cross(AET,Ref(b2,-1)); k2:=Cross(Ref(b1,-1),AET);
k3:=Cross(AET2,Ref(b4,-1)); k4:=Cross(Ref(b3,-1),AET2);
s1:=BarsSince(k1) < BarsSince(k2);s2:=If(s1=-1,b1,b2);
s3:=BarsSince(k3) < BarsSince(k4);s4:=If(s3=-1,b3,b4);
s2;s4
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